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lIl Semester B.Com. Examination, November/December 2018
(Semester Scheme) (CBCS) (F + R) (2015-16 and Onwards)
COMMERCE
3.6 : Quantitative Analysis for Business Decisions - Il
Time : 3 Hours Max. Marks : 70

Instructions : Answers should be written completely either in
English or in Kannada.

SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
2 marks, (5x2=10)
a) What is a linear correlation ?
b) What are the regression lines ?
c) State the components of time series,
d) Expand (y—1)°=0.
e) What is sampling distribution ?
f) What do you mean by population of universe ?
g) What are independent events ?
SECTION - B
Answer any three of the following questions. Each question carries 6 marks.
(3%6=18)
2. Find the rank correlation for the following data and give your comments :
Marks in Accounts (X): | 84 | 56| 89| 58 | 59 | 67| 74| 78
Marks in Maths (Y) : 38 | 69| 56| 58 | 63| 78| 87| 77
3. You are given the following data :
Variables X Y
Mean 47 96
Variance 64 81
Correlation co-efficient 0.36
between X and Y ;

Calculate the regression line X on Y and also calculate X when Y = 88.

4. Interpolate the exports made in 2014 from the following using Binomial
expansion method.

Year

2012

2013

2014

2015

2016

2017

Exports (Crores )

210

230

?

280

300

350
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5. What are different non-probability sampling techniques ?

6. The probability of an Indian having a car is 26%,
a house is 40%. The probability of Indian owni

TR

the probability of Indian having
ng a car and a house is 18%.

What is the probability that Indian owns a car or a house ?
SECTION - C
Answer any three of the following question. Each question carries 14 marks.
(3x14=42)
7. From the following table, find out Karl Pearson's co-efficient of correlation
between age and reading habits of students.
Age : 16 16 17 18 19 20
No. of students : 250 200 150 120 100 80
Regular Readers : | 200 150 90 48 30 1<

8. From the following data :
a) Calculate two regression equations.
b) Estimate the value of X when Y = 80 and Y when X = 90.

c) Determine the value of correlation co-efficient th

co-efficients.

rough the regression

X 40 48 52 68 T2
% 20 24 28 36 52
9. The following are the annual profits of a certain business.
Year’s 2011 | 2012 | 2013 2014] 2015] 2016 2017
Profits (in’000’s) 65 77 80 70 85 90 100

a) Fit a straight line trend to these figures

b) Estimate the profit for the year 2021.
¢) Plot the actual and trend values on a graph.

10.
following table :

Estimate the steel production for the

by the method of least squares.

year 2013 and 2015 with the help of the

Year: 2010 | 2011] 2012 | 2013 2014 | 2015 | 2016
Steel Production

? n .
(in'000tonnes) | 1°0 | 180 | 220 | ? | 330 | 2 | 450

g fi

Newton’s method.

The following are the annual premium char
a policy of Rs. 1,000. Estimate the

Age (in years) 20 o8 i 7 =
Premium (3)
(for % 1,000 policy) 23 | 26 | 30 | 35 42

ged by an Insurance company for
premium payable at the age of 26 by using
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1. 39N cdnRETe 0 wvE TINn wugoR. B WO BIN TR osrish.  (5x2=10)
a) totie D3RO 3ORS (@ewowcf) ABAOUWOR @odtﬁ(’&b 9
b) 50033@.):30:13 Be3nPondeso ?
c) ARSOoDT Foedon OOBNTY, EVA.
d) (333&5.2{ QRO (y—1)*=0.
e) [RTO VBT LoT3ed ?
f) wid) eRdeesnd Aanwas wprEed ?
g) B308 PF ordesd ?
QLTI — W
BYTOR CIRTYTRETR BRSO BIMOT Ggor. B8 T 6 wosnidd, (3x6=18)
2. 39508 QRONYos Jeed A ﬁcwozﬁdaﬂg{ lolecSl delovelelnvch 539,809, R
SgooRpOs woendo(X): | 84 | 56| 89 58| 59 [ 67 74] 78
ﬁﬁém%ﬁ%ﬁ wognsb (Y):| 38| 69| 56 58 63 | 78| 87| 77
3. 2ot 39N &aﬁdﬁfécﬁg{ QEBERNT
tkfo) X Y
jeprate 47 96
23 64 81
X 3 Y ¢ SRoDS RERones s
B ehoi '

X3 Y I dodesodd ﬁ@aeﬁdmﬁsﬁi FOTEBOWDY, Toriode, Y = 88 Qﬁf\m%ﬁ, X3

zﬁeﬁoi:ab FORISEOND,

4. BN DR[ONYe UTOROD* VR ARG, 2014 Se SRS TP, BOROEEOWO.
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2014

2015

2016

2017

og) decei . VO,
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?
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300

350

5. RoySReoBoDNUT DG BREO BoZNRW CIRF) 2

6. -2t POTSECDRD DUDY, BROQTIT FoyRaecndd Jea 26 OB, RRoOTOE
Noa;idéaeocb@ JeszE 40. aadm RO T QO BROHTES ForRVecHS B8R 18,

oaja:fcueo:b@o\,oew ?

mﬁd@ OBELOTD T uﬂm dﬁ BRODT
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FYTOR CART) B3R RN TInen wogos. B

7. 89308 Bedowod DT,PFRYIT FoRy &
RBMOEBRT T Q0T AZT VBTG, FoREBOWO.

L8

RTAl ﬁam@% LT

ned.

U 0

(3x1

4=42)

> Labs BeAg ths RmRowes

S
=0

daﬁ:z‘%: 15 16 17 18 19 20
‘Dmﬁ@?ﬂ@é ﬁc&% s 250 200 150 120 100 80
RO WTONTH : 200 150 90 48 30 12
8. #80% QWTNYe
a) V@ LoEOFoD :dsw.eédsaﬁeﬁaigt FOTOLROWD.
b) Y =80 amnX s wdodos) woEy X =90 R2laplel a:?c?cm;igt Clolaplat il
C) &ouERD FBRIBNY BoRes ABRowos MOLTRRY FORIGEBCID.
X 40 48 52 68 72
Y 20 24 28 36 52
9. B80E TTND, 6@@ REH0T AT PRNE,
mRE 2011 2012 | 2013 | 2014 | 2015| 2016| 2017
SIned ('000 Sn. ﬂedt'gﬂ ) 65 V4 80 70 85 90 100

B3 0% WOBNY AT ODAOT !
a) 3R, BRF VIR, 20T SeT FeadoD THSONTY ERODAD.

&)

b) 2021 Se¢ @ m%d@aﬂ $50TDL3R:

C) T WL T3S TP, Sesm SEODY, TR

89 BRe3rba Fespoooz3 2013 W) 2015 e SR aper PTITIODR LR WHR.
st 2010 | 2011 | 2012 | 2013 | 2014| 2015 | 2016
RO NTHWR
(000 &35°1®)

10.

150 180 220 ? 330 ? 450

11. de. 1,000 ¥ O IRP FoBICWT VORI TAFS CIAVovblor i Wovef

8950mE08n. 26 e SbATY, Sespienn 2460000008, RRUHTRT HEPSROT oL
SRE.

Sebmd (SAFRY) 20 25 | 30 35 40
2620050 (G5, N¥Q))
S 23 26 | 30 35 42




